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OUT:1°3°4-5-7-8 IN:1:35+6+8+9 BAfEE H 45054202 A 21 H
JNEAL Bifz F{ENET | OUT IN GRS | HDCP | NET
7 (B 58 209.8 ) Gis: SCRIID

R R 38 39 77 8.0 | 69.0
M= TE 42 41 83 | 12.8 | 70.2
B T48 45 42 87 | 16.4 | 70.6
R 46 42 88 | 12.8 | 75.2
AL |PaAT B 3L 210.6 ) Gis: SCRIID
iy S 39 40 79 9.2 | 69.8
7 H EREE 49 41 90 | 20.0 | 70.0
Pk B3 50 42 92 | 21.2 | 70.8
AR5 43 43 86 | 11.6 | 74.4
AL [JIE IEKE 210.8 Y SEITBIED
JIH HE 45 46 91 | 22.4 | 68.6
JIE 1ENE 48 40 88 | 17.6 | 70.4
JI v 7 46 41 87 | 15.2 | 71.8
I 45 40 85 | 10.4 | 74.6
M | H b FHE 212.2
L B 53 44 97 | 30.8 | 66.2
e s 49 40 89 | 16.4 | 72.6
H b FH=E 45 40 85 | 11.6 | 73.4
/AR TE A 52 46 98 | 16.4 | 81.6
SAZ | e 213.2
fRH H-F 40 38 78 9.2 | 68.8
B H OREE 44 41 85 | 12.8 | 72.2
PR e 40 39 79 6.8 | 72.2
KEE Ll 43 45 88 | 14.0 | 74.0
67 |[LA HFEAF 213.8
HAL BT 48 39 87 | 18.8 | 68.2
WA BT 48 41 89 | 16.4 | 72.6
(N IEL 47 40 87 | 14.0 | 73.0
Rl BeEE 58 53 111 | 34.4 | 76.6
hE [HPHE AK 214.0
mr T3/ fF 46 45 91 | 20.0 | 71.0
Adg BT 52 39 91 | 20.0 | 71.0
S EES 45 41 86 | 14.0 | 72.0
HA) Fof- 49 41 90 | 12.8 | 77.2
SAL |k L 215.2
E BE 45 42 87 | 16.4 | 70.6
WAk UL 47 44 91 | 20.0 | 71.0
Hie FIET 44 40 84 | 10.4 | 73.6
E JIH 49 46 95 | 21.2 | 73.8
L | & 5 I 215.8
ERAR 45 44 89 | 17.6 714
AcHy BR1- 52 48 100 | 28.4 @ 71.6
LS 44 44 88 | 15.2 | 72.8




P L= 51 48 99 | 21.2 | 77.8
1007 |[fE 2 R £ 216.8
e NS 50 41 91 | 21.2 | 69.8
A T 50 43 93 | 20.0 | 73.0
AR PHT- 48 46 94 | 20.0 | 74.0
HAR 5L 58 52 110 | 30.8  79.2
1AL | B 2 217.2
A7 FO 49 37 86 | 15.2 | 70.8
T B 45 41 86 | 14.0 | 72.0
[ 43 49 92 | 17.6 | 74.4
e wyh 43 50 93 | 11.6 | 81.4
1207 |[FEAR 1B 1 217.4
A BT 47 41 88 | 18.8 | 69.2
RN PR 43 40 83 9.2 | 73.8
A = 53 45 98 | 23.6 | 74.4
A BT 50 41 91 | 15.2 | 75.8
1307 | K Bz 217.6
KiE 2 48 38 86 | 15.2 | 70.8
RIF ifE 44 45 89 | 16.4 | 72.6
X5 AR 43 44 87 | 12.8 | 74.2
PaH 35 45 42 87 | 12.8 | 74.2
1407 [l =401 217.8
IWH H-F 49 48 97 | 26.0 | 71.0
GRS 52 46 98 | 24.8 | 73.2
& =17 48 48 9 | 22.4 | 73.6
T 48 47 95 | 20.0 | 75.0
A - 218.6
M BT 49 46 95 | 24.8 | 70.2
KEF HE 52 48 100 | 26.0 | 74.0
PEigE N7 54 44 98 | 23.6 | 74.4
R T4 53 47 100 | 24.8  75.2
16037 [/ AR TEZ 219.4
R L 98 42 45 87 | 15.2 | 71.8
/IR IEZ 41 41 82 9.2 | 72.8
HiFH  I5 5 45 45 90 | 15.2 | 74.8
A FfE 40 39 79 2.0 | 77.0
VA o S 219.4
LR BA 47 41 88 | 17.6 | 70.4
gl ERL 44 44 88 | 16.4 | 71.6
FAH 3R 54 47 101 | 23.6  77.4
oV NI S 48 55 103 | 24.8 | 78.2
1803 |-y B 219.6
] EE 46 43 89 | 16.4 | 72.6
AR TR 44 36 80 6.8 | 73.2
FrE 51 38 89 | 15.2 | 73.8
ML HESE 46 48 94 | 16.4 | 77.6
1907 [HH PR 219.8




AL BB e 50 47 97 | 24.8 | 72.2
HH PESC 48 45 93 | 20.0 | 73.0
TH #H8 50 47 97 | 22.4 | 74.6
AT FIE 49 56 105 | 23.6 81.4
2007 | 4G BT 220.6
A Br 51 48 99 | 27.2 | 71.8
BA T 53 41 94 | 20.0 | 74.0
A HERT 57 51 108 | 33.2 | 74.8
HH nE 55 51 106 | 29.6 @ 76.4
2UAL | B 220.8
o B 45 41 86 | 12.8 | 73.2
IR REHE 46 40 86 | 12.8 | 73.2
fE7K [H 47 45 92 | 17.6 | 74.4
Ttk EE 48 47 95 | 20.0 | 75.0
220 | Ve FET 220.8
ek T 50 44 94 | 22.4 | 71.6
Koy =1 48 40 88 | 15.2 | 72.8
s s IRVGTA 51 43 94 | 17.6 | 76.4
230 |AREE FnAE 221.0
A EIG 49 42 91 | 20.0 | 71.0
ZRIL S5 45 47 92 | 17.6 | 74.4
ARES Fnk 53 45 98 | 22.4 | 75.6
NS 44 43 87 | 10.4 | 76.6
2407 | =R HEH] 221.0
— i Rk 43 39 82 9.2 | 72.8
= E2] 42 47 89 | 15.2 | 73.8
Pt 5L 48 44 92 | 17.6 | 74.4
2507 |HE b 1 221.2
S HT ) 42 37 79 5.6 | 73.4
HE 44 45 89 | 15.2 | 73.8
AR LHED 55 45 100 | 26.0 | 74.0
TEAK FEHY 57 49 106 | 30.8 | 75.2
26T |fnAS B+ 221.4
FAR 723 48 47 95 | 22.4 | 72.6
HE 51 43 94 | 20.0 | 74.0
FAA 1 52 50 102 | 27.2 | 74.8
TH E=F 67 61 128 | 36.0 | 92.0
2747 |)I1IRF 1) 2K 221.8
B LT A 48 39 87 | 14.0 | 73.0
JIIRE )2 40 47 87 | 14.0 | 73.0
Fin T 49 48 97 | 21.2 | 75.8
28AL |/ EELT 222.2
/N EELT 46 42 88 | 16.4 | 71.6
WE Gk 51 43 94 | 18.8 | 75.2
xR & 48 45 93 | 17.6 | 75.4
WREr 75 ] 57 44 101 | 24.8 | 76.2
20N [ —& 222.2




R —E 53 44 97 | 24.8 | 72.2
FzER EZ 51 47 98 | 23.6 | T74.4
TR ERE 52 52 104 | 28.4 | 75.6
oH H 49 54 103 | 26.0 | 77.0
3ONZ (Bl V> 223.4
Bl 1E— 45 47 92 | 21.2 | 70.8
RN D7) 61 50 111 | 35.6 @ 75.4
FE B 49 53 102 | 24.8 | 77.2
SIAL | ZRl BT 223.6
Bl R 53 53 106 | 35.6 @ 70.4
PRl (BT 46 41 87 | 10.4 | 76.6
2PN 56 55 111 | 34.4 | 76.6
o)1 Bz 52 50 102 | 23.6  78.4
AL e 223.8
& gl 45 42 87 | 14.0 @ 73.0
% 52 48 100 | 26.0 | 74.0
i 61 49 110 | 33.2 | 76.8
% BT 60 62 122 | 36.0 @ 86.0
3307 | TR H FEFE 224.0
BH KT 53 47 100 | 27.2 @ 72.8
fRiH ZFEE 46 45 91 | 16.4 | 74.6
i T 52 53 | 105 | 28.4 | 76.6
ST TFREEE 54 53 107 | 26.0 | 81.0
AN | A% 18hE 225.2
S B 56 49 105 | 32.0 | 73.0
Nk fhE 53 46 99 | 26.0 | 73.0
PRLEY JfTE 56 54 110 | 30.8  79.2
TR ik 62 61 123 | 36.0 | 87.0
3507 |HTH B 225.4
AiH B% 50 47 97 | 22.4 | 74.6
FN AKX 47 49 96 | 21.2 | 74.8
gz 48 42 90 | 14.0 | 76.0
Bl E =y i 44 44 88 | 10.4 | 77.6
36 |1R)E F% T 225.4
HE T 52 45 97 | 22.4 | 74.6
R = 49 40 89 | 14.0 | 75.0
i BA T 57 52 109 | 33.2 | 75.8
A A S 59 61 120 | 36.0 | 84.0
3TAL |BRAS TR ¥ 227.0
HT ¥ 49 51 100 | 27.2 | 72.8
PRAS JFRHL T 49 43 92 | 17.6 | 74.4
FERE WD I 61 52 113 | 33.2 | 79.8
R FEEE 63 59 122 | 36.0 | 86.0
38N )1 B 227.4
) FAR 57 54 111 | 35.6 @ 75.4
& ML 47 51 98 | 22.4 | 75.6
EAN AR 53 53 106 | 29.6 @ 76.4




AL SAD 61 50 111 | 33.2 | 77.8
39N | m BASE 228.2
=l BT 53 50 | 103 | 29.6 | 73.4
NI FESE 51 50 | 101 | 23.6 | 77.4
JIEa i1 55 46 101 | 23.6  77.4
Woa BSE 57 51 108 | 24.8 | 83.2
40PE | =S Ei 1 228.6
JEIL BF 55 56 111 | 36.0 @ 75.0
AR HET 54 50 104 | 28.4 | 75.6
B T 61 53 114 | 36.0 @ 78.0
AL [T FIIR 228.8
I IESE 51 44 95 | 20.0 | 75.0
A e 54 51 105 | 28.4 | 76.6
& Fk 48 48 9 | 18.8 | 77.2
o oh+ 67 53 120 | 36.0 | 84.0
AT (4l T 7 229.8
A AHAR 55 51 106 | 32.0 | 74.0
e HE 51 54 105 | 27.2 | 77.8
B BT 52 52 104 | 26.0 @ 78.0
R T 58 49 107 | 28.4 | 78.6
AN | RN s 1 233.2
bk T 48 52 100 | 26.0 @ 74.0
BN IFET 51 51 102 | 24.8 | 77.2
it AR 61 57 118 | 36.0 | 82.0
4407 BP0 234.0
HH B — 53 48 101 | 26.0 | 75.0
5w e 52 51 103 | 26.0 @ 77.0
EH = 58 60 118 | 36.0 @ 82.0
s ERT 59 64 123 | 36.0 @ 87.0
4507 |22 He 237.0
W IR 56 57 113 | 34.4 | 78.6
N 57 55 112 | 33.2 | 78.8
o R 56 58 114 | 34.4 | 79.6
L T 57 61 118 | 36.0 @ 82.0
4607 |~ A A 238.8
SFH 47 47 94 | 21.2 | 72.8
=) AE 59 57 116 | 36.0 | 80.0
L A E= 61 61 122 | 36.0 | 86.0
4747 AL = 246.0
R Hz 51 49 100 | 27.2 | 72.8
by A= 47 46 93 | 18.8 | 74.2
R #e— 67 68 135 | 36.0 | 99.0
4807 |1 b AR 261.6
L Eom 50 41 91 17.6 | 73.4
JIE ab-r- 58 48 106 | 30.8 | 75.2
i ET 82 67 149 | 36.0 | 113.0




